
Arithmetic 1 

1 877 ÷ 2 =  11 3.4 X 6 =  

2       = 1,001 - 7   12 7 X 67 = 

3 88 X 1,000 =  13 811 + 300 =   

4 80.02 – 9.194 =  14 2.84 ÷ 10 =  

5 35% of 2,200 = 15 593 X 79 = 

6 100,099– 8,099 =  16 59 + (4 X 9) =  

7 4,910 + 901 =  17 255 ÷ 6 =  

8 4,976 ÷ 5 =  18 2,381 X 72 =  

9 6  1   +  1  =  

    8       2 

19 3   ÷    5 =  

10 

10 12   -   1 = 

50       5 

20 1 1   X 13  =  

    2 

Reasoning 

1 Complete this table with the missing numbers.  

One row has been done for you.  

Number 1,000 less 

4,354 3,354 

34,721  

 9,583 

 10,587 



 


